TIMESTABLE CODES – TEACHER NOTES

Opener - 10 mins
This initial opener briefly introduces the idea of the timestables being in code and should also promote discussion and logical thinking.

Put the teachers coded timestable on the board.  Tell the pupils that this times table is in code and that the order has been shuffled around so that it does not necessarily go 1x, 2x, 3x etc…  nor does A=1, B=2 etc…  Get them, in pairs initially, to discuss what the timestable might be and why.  After a brief period the pupils should be able to deduce that it is the 3 times table as there are no other timestables that have three single-digit answers (i.e. 3, 6 and 9).  During the discussion there may be many ideas for which timestable it could be.  Hear them out.
Main – 35 mins

Arrange class into fours and give each group a set of four timestable codes to solve.  Explain to the pupils that it is not OK to just work out what timestable it is but they must also find out what each letter stands for.

Answers:

Timestable Code – 1

5 timestable


A = 4

B = 9

C = 1



D = 5

E = 6

F = 3


G = 7

H = 2

I = 8

J = 0

Timestable Code – 2

2 timestable


A = 0

B = 1

C = 7


D = 8

E = 3

F = 9


G = 6

H = 2

I = 4

J = 5

Timestable Code – 3

6 timestable


A = 2

B = 1

C = 6


D = 8

E = 4

F = 9


G = 3

H = 0

I = 7

J = 5

Timestable Code – 4

9 timestable


A = 2

B = 6

C = 5


D = 7

E = 9

F = 1


G = 0

H = 8

I = 3

J = 4

Logical thinking and perseverance will win through on this activity, so it is very important that they work together.

Points could be awarded for answers if you feel it would help excite to have a competitive edge to the lesson.

Plenary – 5 mins

A nice end to the lesson could be to decide as a group which was the most challenging and why.

· Which timestable would be the hardest to solve?
(1 timestable or 7 timestable)
No patterns!

· Which timestable would be the easiest to solve?
(5 timestable or 10 timestable)
Obvious patterns!

























